HEERT 2115

made For garden

64 &3

i s
SR

e -\J;g|,]\,«
UL LN
gl ' (/)] ./_.“ A\

Position Part number Nazev Name
26 211500026 HFidel Shaft
36 211500036 Hnaci pastorek Drive pinion
37 211500037 Kryt pfevodu kratky Gear cover short
39 6202-2RS Lozisko 6202-2RS Bearing 6202-2RS
61 211500061 Spinag Switch
65 222200031 Drazkovy femen 6PJ630 Ribbed belt 6PJ630
66 6906-2Z Lozisko 6906-2Z Bearing 6906-2Z




